= CAREER POWER

AN I1IT/IIM ALUMNI COMPANY

Q1. 2 bullets were fired at a place at an interval of 34 min. A person approaching the firing point, in
his car hears the two sounds at intervals of 33 min. Speed of the sound is 330 my/s. find the speed of
the car.

T TIT9 9, 34 e F a0t & 2 Mt FaTE T2| UF 1<k, ST TIA1 F1C H 39 TAT hl A AT W27 & T2l
T AT FAATE T2, 33 HFe & faae ¥ eaf{ai i gaar gl eat= &t =71 330 H/H. g1 3T FIL i F1 AT
ENE DY

(@) 10 m/s

(b) 20 m/s

(c

(

)15 m/s
d)9m/s

Q2. A boy walking at a speed of 45 km/hr reaches his school 10 min late. Next time he increases his
speed by 15 km/hr but still he is late by 5 min. Find the distance between the boy’s home and the
school.

T ASHT 45 1A 6 J1 F TAhe o797 Tt 10 e FiF 3T & 9g=aT | et a1 ag AT =7 § 15
fereiyere &t gfeg F2 @ar g, e At oF ag 5 fade &t 30 & 9g=9ar g1 A= & =97 T ThA & 7ed L A1
EAER]

(@) 10 km

(b) 15 km

(c) 16 km

(d) 18 km

Q3. The height of a cone is 40 cm A small cone is cut off at the top by a plane parallel to the base. If
its volume be 1/64th of the volume of the given cone, at what height above the base is the section
made?

U 9% i SATs 40 HHT §, THh ATLT o THTAL Uh qHa g7 264 oW & T SIeT 9% Flel TA7| TS S6qHhT
A (30 T 90 o A &1 1/64 8, qOT Tg @ ATeT F fha=t SaTs 92 el 7?2

(@) 10 cm

(b) 30 cm

(c) 20 cm

(d) 40 cm

Q4. ABCD is a trapezium with AD and BC as parallel sides E is a point on AD. The ratio of the area
of ABCD to that of BEC is

ABCD UF 5weid Fq4s 2, ot 3 aiae 990 AD @i BC | E, AD T© FEICAREERTONER
U &g §1 ABCD & &% &1, BEC & &/=[%hel & TqTd &- o
g & SSC 6L 2017
(b) AD + BC 856’ TIER-I|

BE STATISTICS (Paper-Ill)
) %)+BC ‘
(d) ¢
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Q5. If the surface area of a sphere is 283.64 cm?, then its radius is

T ol &7 JHT &6 283.64 HHI2 g, TT THehT (31547 B- (m = 22/7 F15r)
(@) 7 cm

(b) 4.75 cm

(c) 3.75cm

(d) 9 cm

Q6. An interior angle of a regular polygon is 7 times its exterior angle then the number of sides of
the polygon is

Tk HH-AGHS T Av:hI0T, THeb AT 0T T 7 AT, T IH TS 01 AT T HeAT 2-

(a) 12

(b) 16
(c) 14
(d) 18

Q7. The height of the right pyramid whose area of the base is 60 m? and volume is 700 m3 is
U Ad-TIXTHE HT FATS 71 o, FSTEeh ATLTE &7 &% 60 H12 g 3% rad= 700 #13 8-

(a) 35
(b) 30

(c) 70

(d) 60

Q8.2 men step out to cycle from Delhi to Noida and Noida to Delhi respectively. After crossing each
other they complete their journeys in 3% and 4% hr. If the speed of the first one is 24 km/hr. find the
speed of the second one.

2 &Y FHHT: faedt ¥ A0St # o ofiT et 7 fooeft & o arsfene 9% 5941 s #33d &1 UH 8L &l 917
W%W%ﬁﬁﬁw%ﬁéﬁ%ﬁ‘ﬁrm%l T3 ager AT & AT 24 ToRefi/ee g, a7 T <6 w0l 91
BIGENIER]

(@) 15 km/hr

(b) 60 km/hr

(c) 20 km/hr

(d) 30 km/hr

Q9. Ratio of speeds of A and B in 4 : 7 and A loose the race by 270 m. Find the length of the race
course.

A 3T B T =TT T AT 4: 7 8 ST A, 270 9T H ZT€ g SATAT 8| THAE sl daTe AT i ror 2|

(a) 360 m
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Q10. Monu can row a certain distance downstream in 12 hrs and can return the same distance in 18
hrs. If the stream flows at the rate of 6 km/hr, then find the speed of the boat in still water

HIg o 7 {3 & v A @ aF 12 5 § 979 FAq10 57 90T g oY 18 5 § TH gL a% A1d AAThT
ATIH 3T TFdT g1 TTa &I T TZ1F 6 TRHI/EE B, AT 907 ST | AT 0T AT ST il Tor |

(@) 20 km/hr

b) 30 km/hr

c) 25 km/hr

d) 35 km/hr

(
(
(

Q11. Number of red balls and green balls in a bag are in the ratio 16 : 7. If there are 162 more red
balls than green balls, then find 14§%of the total number of green balls.

T 3T ST ST 2 NS i HT AT 16 7 21 AR 7, 2 NI ¥ 162 A T, A 2 W
FEAT AT 14_%ST I

(a) 18

b)
)
d)

(b) 17
(c) 19
(d) 20
Q12. Find the ratio between the third proportional of 4, 5 and the fourth proportional of 3, 6, 18.
4,5 % S FGHTIITIT 31T 3, 6, 18 % =T FHIATAT & HLT SATATT AT Hiford|

(a)5:12

(b) 15:121

(c)25:121

(d) 25:144

Q13. An amount of Rs. 735 was divided between A, B and C. If each of them had received Rs. 25
less, their shares would have been in the ratio 5 : 4 : 2. Then find the money received by B and C
together.

735 %. % Teh =97 &l A, B 3T C & HeF T(aT TAT| T(< ITH & TAF &l 25 %. FH JTH B, AT 370 T80 AT
ATATT 5: 4 : 2 AT T B 30T C G FHATHT ITH 6T TS T AT Al |

Q14. The base of a prism is a right angled triangle with two sides 9 cm and 12 cm. The height of the

prism is 12 cm. The total surface area of the prism is CAREERPOWER
.Qq; ﬁw T ATYTL .@ H_qq'):rUT a’%ﬁ' %, ﬁ'ﬁﬁ‘ a- w 9 a—lﬁ- Sﬁ_{ 12 a_ﬁ_ %l AN 1IT/1TM ALUMNI COMEANY

o o 13 1270 1 o 1 g G SSC C6L 2017
o 856 TIER-II

(b) 540 cm?

(c) 437 cm? FINANCE and ECONOMICS
( (Paper-1V)

o m
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Q15. The base of a right prism is an equilateral triangle if the lateral surface area and volume is 150
cm?, 100+/3 cm?3 respectively, then the side of base of the prism is

T A TISH & AT U GHaTg s g1 S SHHT 9 IEIT SR ST AAa HAer: 150 T2, 10043 T3
g, a1 TS & e it 51 8-

Q16. 120 1 of mixture of wine and water contains 10% water. How much water must be added to get
a new mixture which contains water 28% in the new mixture

QTS ST ITHT o 120 ST g0 § 10% UTHT g1 Teh F3AT =07 9TH ¥ & o0 haer a1t fHemam s =mfey,
qTleh T o7 § 97T 28% BT

(@)201

b) 241

c) 301

d)251

(
(
(

Q17. Two equal vessels are filled with the mixture of water and milk in the ratio 3:4 and 5: 3
respectively. If the mixtures are poured in the third vessel, then find the ratio of water and milk in
third vessel.

ZT FHIT Fa ITHT 31T 39 o o0 § 92 2, H 91 o g8 F7 SIqo7d w7 314 37 5 : 3 1 i< [Fsqon =y
EY T4 § ST AT At g, a7 HEe e § I S g8 T AT AT bl ror 2|

(a) 59 : 53

(b) 59 : 54

(c) 53 :59

(d) 54 : 59

Q18. In what time would a cistern be filled by 3 pipes whose diameter are 1, 3 and 4 cm. When the
smallest alone can fill it 476 min. If the speed of the water flow in each pipe is 3, 4, 5 km/hr

T BIST [ 3 OT2OT g7 fohae 90T | =7 ST 96T g, St =919 1, 3 3% 4 FH1 g 969 SleT ITeT 3hel 29
476 T 5 9T TaT § ST TAF 12T § STa9drg il 2% 3, 4, 5 fi/ae g

(a) 12 min

(b) 10 min

(c

(

) 8 min
d) 14 min

Q19. Rs. 4000/~ is divided into 2 parts such that if 1 part is invested at 3% and the other at 5%. The
annual interest from both the investment is Rs. 144, then find the difference between each part.
4000 %. T 2 T | = Y12 | faariora B w17 & afs ua 9T #7 3% 9% & g0 1 5% 9% Faer
ST, AT ST (9T & 9T A7 sATT 144 %. 8, T TAH AT % HeT AL AT hlord |

(a) 1600

(b) 1200
(c) 1500
(d) 1800
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Q20. Rs. 4800 becomes Rs. 6000 in 5 years in compound interest what will be the sum after 15 years.
4800 %. #T TTTY TGz AT I 5 a1 | 6000 %. BT ST g1 15 T IT& ag TI19T Fohaeit gRIr?

(a) 9375
(b) 9360
(c) 9445
(d) 9450

Q21. Perimeter of a rhombus is 4 p unit and sum of length of diagonals is n unit, then area of the
rhombus is

TS TH TS T THATT 4p THIS g AT (SR Al AdTS T AN n THIS &, AT ST THATIST FT &THA -

2
(a) M 5q.units

(b )—Sq units
() (n P )Sq.units
(d) (4p " )sq.units

Q22. A ball of copper 6 cm in diameter is covered with aluminium. If the volume of the aluminimum

and copper are equal, then the thickness of aluminium is approximately (given /2 = 1.259)

6 THT SATH TS T HIIT il 1& Al TAHETT T A haT 7 g1 TS T AT i FHO HT Ea-
TITET B, AT ey it Jiers «@raer st gnfi? 78 fRarmar g, & (V2 = 1.259) |

(@) 7.77 cm

(b) 1.077 cm
(c) 7.077cm

(d) 0.777 cm

Q23. A certain sum of money amounts to Rs. 756 in 2 years and Rs. 873 in 3.5 years at simple interest.
Find the sum and 1%

U TS eIty AT ST 9T 2 Ui H 756 €. ¥ 3.5 6T H 873 F. Bl AT gl T &AL 30T 1% 1
EAER]

(a) Rs. 600, 13%

(b) Rs. 500, 12%

(c) Rs. 500, 13%

(d) Rs. 600, 12%

Q24. If a dealer wants to earn 10% profit on an article after offering CAREER POWER
15% discount to the customer by how much % should he increase his R I
M.P. to arrive at the level price.

I3 T ST ATEH HI 15% T G2 3 % q1F aeq TL 10% ATH HHAT T8
g, 7 I 79 AThaqed & FI9eT F Fhaw % rfars sifera wear arfgu?

EEE All Rounder

(a) 29.2%

(b) 29.6% 350+ TOTAL TEST

(c) 29% « 80+ TIER-1 MOCKS

(d) 29.41% « 50+ TIER-1I MOCKS

» 200+ SECTIONAL TEST
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Q25. In two articles, the S.P. of each is Rs. 960. 1st one is sold at 20% profit and the 274 one at 20%
loss, then find the profit or loss%.

N AETAT H H, TAH F AHTTeT 960 %. g1 TF awq il 20% FATH T S=T TAT 31T AL HI 20% T 9%, T ATH
T ET Y% AT o

(a) Loss% =5

(b) Gain% =4

(c) Loss% =4

(d) Gain% =5

Q26. A shopkeeper sells his goods at a profit of 20%. If he reduced his CP and the SP by Rs. 100 his
profit increases by 4%, then find the C.P.

T HIARIT STIAT TEqA I 20% FATH 92 I=aT gl Ie a8 709 %.9. o .9, 7 100 =. = FHT Far g, ar
I ATH | 4% T gieg gl g, T .7, AT i or |

(a) 650

(b) 400

(c) 500

(d) 600

Q27. A candidate score 36% and failed by 72 marks while another candidate who scores 50% marks
gets 124 marks more than the minimum required marks to pass the exam. Then find the passing
marks.

T IFTEATE 36% YT FHLAT g 3T 72 i & 6l gl S1dT g, SAa1h 77 IFHEATE 50% 3 TTH Har g e 39
AT ST A o FoIT =IAqH Sa9aF sishi | 124 3 (e ST ZId 21 ql ITATVI1H AT it

(a) 577

b) 580

c) 576

d) 574

(
(
(

Q28. The two sides of a plot measuring 18 m and 24 m and the angle b/w them is a perfect right
angle. The other two sides measure 20 m each and the other three angles are not right angles. The
area of the plot in m?is

T ST T IT ST R /1T 18 HY 37T 24 HT 8 TAT ITh WLT T ATAT FH 0T Tk U7 THFKOT | 3T I 1A
H T TE AT AT 20 HY 8 3T w7 AT HI0T HH A1 2| 3T TAle FT &%, Hi2 H, -

(a) (186 + 35v7) m2

(b) (186 + 75v/7) m?

(c) (216 + 35v7) m2

(d) (216 + 75v7) m?

Q29. A conical cup is fulled with ice-cream. The ice-cream formes a hemispherical shape on its open
top. The height of the hemispherical part is 14cm. The radius of the hemispherical part is double
the height of the cone. Then the volume of the ice-cream is (1 = 22/7)

T QTFHTRIE T SASH-010 & T 9T g3 gl Tg AMSH-1H 284 ol gu T 9T AL aATaht< e a4t &l
TETIATRTE TN il HATe 145HT g1 FTEMATRIE T =l BT, oF Ff FATS F TEAT &, AT ATSH-0T T S0aT

2~ (1= 22/7)
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(a) 7186.66 cm® CAREERPOWER

(b) 5749.33 cm® [

(c) 1437.33 cm3

(d) 3593.66 cm? ) SSC CGL 2017

) . . . L ) EEE All Rounder
Q30. In an equilateral triangle of side 36 cm, a circle is inscribed
touching its sides. The area of the remaining portion of the triangle 350+ TOTAL TEST
is (V3 = 1.732) « 80+ TIER- MOCKS
36 FHT ST AT U FHATg BT 5, U 71 TR GATA A E T g P
FeAffed g1 Brst 3 o s 7 85 8- (V3 = 1.732) » 200 SECTIONAL TEST
(a) 339.42 cm?
(b) 221.76 cm?
(c) 561.18 cm?
(d) 439.42 cm?

Q31. a and b are two sides adjacent to the right angle of a right angled triangle and p is the
perpendicular drawn to the hypotenuse from the opposite vertex then 1/p? is equal to

a 3T b TH FHEHIT S F FHKIO7 T IT A A0, ¢ A p F0 02 Foa s & =17 797 v &= g, av

Q32. A is the centre of a circle whose radius is 20 cm and B is the centre of a circle whose diameter
is 16. If these two circles touch externally, then the area of the circle with diameter AB is

A, TF I T % g [STeeh! 15947 20 THT g 3T B, T 7 & 4% 5, (ST ATH 16 1 T3 T 41 99 1] T H
TqeT FA &, AT AB ATH a7l T FT &AFA &-

(a) 154 cm?

(b) 308 cm?

(c) 616 cm?

(d) 1232 cm?

Q33.In an election of 2 candidates 10% of votes were invalid, the 1st candidate got 40% of the total
number of valid votes and still lost by 5400 number of votes. Then find -
The number of votes 15t candidate got.

2 ITHIEATIN & U 9T |, 10% AT A9g T| TIH SFHIIATE Hl 94 Al i Fd T&AT 1 40% T giaT g A
5T T a2 5400 7T & FTT SATAT g AT AT HlTord — TIH IFHIGATL &l ITH I AT HAT #hl HEATI

(a) 16,200

(b) 10,800

(c) 30,000

(d) 3,000
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Q34.A started a business with Rs. 45,000/- and was joined afterwards by B with Rs. 30,000/-. After
how much time6 did B join if the profit at the end of the year were divided in the ratio 2: 1.

A, 45,000 %. 3 TT U FAHT AT FHdT g 31T B, 30,000 =. & HT eI | 1A g1 S1a7 g1 B foha a9
1T FAATT § AT gaoll, (S T o 3T § ATH &I 2 : 1 F FTATT § FieT 147

(a) 3 months

b) 9 months

c) 4 months

d) 8 months

(
(
(

Q35. Area of the triangle formed by the graph of the straight times x -y = -2, x+ y = 2 and the x-axis
is

I Y@TAT X -y = -2, x+ y = 2 3T x-37&T & YTF FIT a (5T T &=6HA &~

(a) 4 sq. units

(b) 8 sq. units

(c) 2 sq. units

(d) 0 sq. units

Q36. Two chords of length a metre and b metre subtends angles 60° and 90° at the center of the circle
respectively. The radius of circle is 8 cm. Find the value of a & b?

a H1e¥ 3T b Hie¥ ars ¥ &1 Srard 7 & g 9% FHL: 60° 37T 90° 07 FATAT &1 I 6T FBroar 8 7Y 21 a 3w
b T | ST i o |

(a) 4 & 42

(b) 8 & 8+/2

(c) 16 & 16v2

(d) 20 & 20v2

Q37.Ina AABC £A + %LB + £C =130° then £B is
U% AABC H, z.q—%gﬁ—,_/c —130° AT sp &-

(a) 105°
(b) 75°
(c) 25°
(d) 60°

Q38. The radius of a circle is 21 cm. The distance of a point lying outside the circle from the centre
is 35cm. The length of the tangent drawn from the outside point to the circle is

TS g 61 AT 21 FHT g1 o Arel Rud uF A At saw aw a @ 35 a2l A e g a gm ™
=T ¢ TeivaT i dare -

(a) 28 cm
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Q39. G is the centroid of an equilateral AABC. If AB =12 cm then length of AG is
G, U# 99aTg AABC & Fv5#h g I3 AB = 12 &1 g, a7 AG T «aTs &-

(a) 2V3 cm

(b) 4v/3 cm

(c) 3Y3 cm

(d) 5v3 cm

Q40. Two chords AB and CD of a circle with centre O, intersect each other at P. If ZAOD = 90° and
£2BOC = 60°, then the value of ZAPC is ?

O g 9T TF g9 $T a7 913 AB 3T CD U% @< 7 P w¥ gfa=ge #dr 21 afx <AO0D = 90° sfiw
2BOC=60°F, T 2APCor g 5.

(a) 95°

(b) 115°
(c) 105°
(d) 125°

Directions (41-43): Study the following graph and answer these questions following it.
Referfed I #7 e @ dAeaa Hford 3 SHaHT TTa FLd gU = T o I dAford|

440
440
420
420
400 400
2 400
g
2 380
>
&
= 360
3 340
& 340
320
320 .
300
1985 1987 1988 1989 1990 1991
. . . CAREER POWER
Q41. The sales in 1987 are how many times to that in 1988? i
1987 ¥ fershT, 1988 ¥ fersht =1 Fohare AT 872 .
@08 ) SSC CGL MAINS
(b) 1.25 856/ TIER-II
(c)8
COMBO TEST SERIES
(d) 0.25

20 MOCKS : MATHS

20 MOCKS : ENGLISH
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Q42. The ratio of the number of years for which the sales were above average to the number of years
for which the sales were below average is

ST | ST Tah! ATl AUl sl HEAT T, ST & FH [ah! aTel aUT 6l H&IT | 97T 8-

Q43. What are the approximate average sales (in thousands) for the years (1988 to 1991)?

T 1988 F 1991 T T AT e fashr (512 H) Fohasit g2
(a) 415

d) None of these/ =7H & &l Tol

Q44. AABC, a straight line parallel to BC intersects AB and AC at D and E respectively. If AB =3AD,
then DE : BC is

AABC ¥, BC ¥ GHTHIAY UF T3 @1 AB 3T AC &7 FHeT: D 3 E 9% FTedT g1 973 AB =3AD g, a7 DE :
BC%’-

Q45. PQR is an isosceles triangle such that PQ = PR and PA is the median to the base QR with ZPQR
= 44° then £QPA is

PQR U% #wigarg BIMst £ 2@ T PQ = PR ¥ PA, ¥ QR WX WI2wHT 7, @Td &
ZPQR =44°¢, aTZQPA 3

(a) 46°

Q46. If ABCD be a cyclic quadrilateral in which 2A =7x°, £B =5x°, 2C = 3y°, 2D =5y°, then x : y
IfT ABCD UH Feh 1T Fq3 &, FoaH 2A = 7x°, 2B =5x°, £C = 3y°, 2D =5y°, &, AT x : y &-
(@1:2
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Q47. ABCD is a cyclic quadrilateral and AD is a diameter. If ZDAC = 52°, then the value of ZABC is
ABCD U& T 9qH ¢ o AD TF =419 gl s £LDAC =52° 8, aF ZABC FT #1H &-

(a) 52°

(b) 142°
(c) 42°
(d) 152°

Q48. ABCD is a square in which AC is a diagonal the value of 2[(cot? ZCAD + 1) cos? ZBAC]
ABCD U= 737 g, fSras AC us fashot €, aT 2[(cot? ZCAD + 1) cos? ZBAC] &T T 8-

(@)1

(b) 2
(c)1/2
(d)V3/2

Q49. A number of friends decided to go on a picnic and planned to spend Rs. 108 on eatables. Three
of them however did not turn up. As a consequence each one of the remaining had to contribute Rs.
3 extra. The number of them who attended the picnic was

T ot fUsfae o s &1 Aot o o @1 9% 108 %, &= T 0 TIST ad15| gTeAlish IT0 & oI dai
T, IRUMHETST A9 § & T4 &1 3 %, ATANR=E AT 92Tl 398 § fowfa® a2 S arer A= & g oft-
(@) 15

(b) 12
()9
(d) 6

Q50. If average of 20 observations xy, Xz, ...... , X20 18 y, then the average of x; - 101, x; - 101, x3 - 101,
ceeeeeey Xg0 =101 is

T 20 STETTT Xq, X, «vv oo , X0 FT AT y &, AT X1 = 101, x5 = 101, x5 = 101, ... ..., Xz0 - 101 FT 3T &~
(@)y-20

(b) y - 101
(c) 20y

(d) 101y

Q51. A number is first decreased by 10% and then increased by CAREER POWER

10%. The number so obtained is 50 less than the original number. T —
The original number is

TS HEAT § Tge 10% AT FHT AT ST 2 ST [T 10% 1 Ff it St 21 ‘@,

TH T ITH HE&AT, T H&aT & 50 FF | T HEAT 8- Ssc DELHI PULICE
(a) 5900

(b) 5000 Constable

(c) 5500 9 FULL LENGTH MOCKS
(@) 5050
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Q52. In an examination a candidate must secure 40% marks to pass. A candidate, who gets 220 marks,
fails by 20 marks. What are the maximum marks for the examination?

U TOAT §, IFHTEATT Tl TLEAT ST FeeA o o0 40% 37 TTH FEAT 2T €7 F SAG97F g U ITHIEATT,
220 3% ITH FHAT g 3T 20 AT | T 3T SATAT g TLIEAT o o0 Tr&eha s e ohae 52
(a) 1200

Q53.
If (1 + tanx) = $28% _ S50 4han the value of x is
cos60°  cosB0"
sin60®  sin30°

Iie (1 +tanx) = cos60°  cos60F ’ Fﬁ'xﬂﬂﬁ%’-

Q54.

For any real values of 6 {% =7
cosech—1

cosech+1
0 % Tt <fT areafas AT % o, oo =2
(a) cosecO + tan®
(b) secO + cotd
(c) secO + tanO
(d) cosect + cot0

Q55. If the sum and difference of two angles are 120° and 11/9 respectively, then the value of angles
in degrees measure are

T I IO T TR A AT FmHLT: 120° ¥ 1/9 B, a7 [=RIUT H, FHI077 T 717 2-

(a) 70°, 50°

(b) 80°, 40°

(c) 65°, 55°

(d) 75°, 45°

Q56. The ratio between Sumit’s and Prakash’s age at present is 2 : 3. Sumit is 6 yr younger than
Prakash. The ratio of Sumit’s age to Prakash’s age after 6 yr will be

T T THTer Y TAH A F HA AT 2 : 3 S| A, THTT & 6 9 SIT 1 6 T 1% FIAT bl 3 T,
STRTET 3T 3 & STITd gIT-

()2 3

(b) 1
(c) 4
(d)

12 I www.bankersadda.com www.sscadda.com | www.careerpower.in | www.adda247.com


http://www.bankersadda.com/
http://www.sscadda.com/
http://www.careerpower.in/
http://www.careeradda.co.in/

Q57. A and B are two alloys of gold and copper in the ratio 7 : 2 and 7 : 11, respectively. If equal
quantities of these two alloys are melted to form a new alloy C, then the ratio of gold and copper in
Cis

A 3T B |9 TAT T Al &7 FAeTqU &, S T ST qie F7 Tqa7d H#99: 7 : 2 3T 7 : 11 )| T T 92
g C a9 o forg ara /1T # = 1 et & ey Star g, aF C # J19 3 qie 7 97T -
(@) 6: 5

(b) 9
()127
(d)7

Q58. The cost price : selling price of an article is a: b. If b is 200% of a, then the percentage of profit
on cost price is

T F&q A1 HA9F : AFITA, a: b g1 TR b, a FT 200% T, TN FILA T ATH Tq 97T &~

(@) 75%

(b) 125%
(c) 100%
(d) 200%

Q59.1In a AABC, 4B =1/4, «.C = 1/3 and D divides BC internally in the ratio 1: 4 then S"; i]cgj:][)) is equal

to

TF AABC ¥, 2B = 1i/4, 2C = 1i/3 5= D, BC F7 1 : 4 F ST & oe: =7 F Fravforg 7ar 2, a7 ool goqae

sin 2CAD

Q60. If cos3A= sin(A-22°), where 3A is an acute angle, then the value of A is
T2 cos3A= sin(A-22°), STgf 3A, TF IAHIT g T A FT A §-

(a) 29°

b) 27°

Q61. A sells an article to B at a profit of 10% B sells the article back C AREER POWER
to A at a loss of 10%. In this transaction

A, B FT 10% ¥TH 9% U q&q 9=dT g, B T8 F&q ar99 A &l 10% T+ 9%
EERIRECCEEC KR
(a) A neither loses nor gains/  dT &1 gIdT & T ATH

i) SSC 2017

555 (COMPLETE KIT)

(b) A makes a profit of 11%/ 11% @TH graT &
(c) A makes a profit of 20%/ A FT 20% ATT ZrAT & 400+ TOTAL TEST
(d) B loses 20%/ B &I 20% BT gl & « 200+ MOCKS

« 200+ SECTIONAL TEST
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Q62. A trader sells his goods at a discount of 20%. He still makes a profit of 25%. If he sells the goods
at the marked price only, his profit will be

T FATIH AT FEGU 20% FE T a9 gl ag AT ¥ 25% FATH FATAT gl TS a8 TEq Al a3 Tohaqded
U AT &, AT SERT ATH ZITT-

(a) 56.25%

(b) 25.56%

(c) 50.25%
(d)

d) 54.25%

Q63. A sum of Rs. 1500 is lent out in two parts in such a way that the simple interest on one part at
10% per annum for 5 yr is equal to that on another part at 12.5% per annum for 4 yr. The sum lent
out at 12.5% is

1500 %. T T ga<Tier T &7 AR § 6 TR o AT AT SAT1aT 8 3 T 9GR7 9¥ 10% FATHE L & 5 T FT
HTLTIOT SATST, TAL TN 9% 12.5% FATTE T & 4 FUT o6 STETI AT 6 a6 gl 12.5% I 9% ITT & T 190

Q64. A sum of money amounts to Rs.4840 in 2 yr and to Rs. 5324 in 3 yr at compound interest
compounded annually. The rate of interest per annum is.

T G197 AT HATISTT AR (g SATST 9 2 U1 | 4840 . 3% 3 a1 H 5324 F. T ATAT &1 SATS il AT 2X

Q65. A and B can do a piece of work in 10 days. B and C can do it in 12 days. C and A in 15 days. In
how many days will C finish 5/8 th of the work alone?

A 3T B UF &1 &1 10 A7 § F°7 9hd g1 B 3li¥ C =& 12 &A1 § T 9 g1 C 3T A T &1 &l 15 &A1 § T
T | C 3Tehet =] AT T 5/8 AN Fohae fadAT T8 HT0?

(a) 24

(b) 30
(c) 25
(d) 60

Qo66.

Value of cos?f—2cost @

. 3 _
2sin " & —sin *E

—cosec?d T HIA %_-

—cosectfs

2 4
cos*d—2cos” &

2sin* @—sin ?
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2

Q67.If x = a(sin 0 - cos B) y = b(sin 0 + cos 0), then the value of — + m is
z

412 x= a(sin6- cosh), y = b(sind + cos) &, B ar %_F HTH 2 &-
(@) 0
(b) -2
(c) 2
(d)1

Q68. From the top of a building of height 150m, the angles of depression of two cars on either sides
of the building are 45° and 60°. Then the distance b/w the cars are

150T FHTE ATAT U THIA & o1 |, THTLT o TohelT T ST &I FTL FT TG HI0T 45° 3T 60° 8, a7 FIA 6
HET T 2-

50(v3 +
50(1 -
50(
50(

—
—_

a)
b)
©)
d)

)
)
)
-1)

=
U
+

a|~

(
(
(
(

>—\§I|"‘

&

Q69. Find the sum of all positive multiples of 5 till 100
100 T 5 % T eFTcH [UTHT T TNTERA ST HIToT|

(a) 2100

(b) 525
(c) 1050
(d) 500

Q70. If the number of terms of a set A be n(A) = 60, n(B) = 36 and n(4 N B) = 24 then n (AUB) is equal
to
7S H9gT A F 9= A &A1, n(A) = 60, n(B) = 36 5T n(4 N B) =24 2, a7 (AUB)
AT B-
(@) 72
(b) 60
() 96
(d) 36
s POWER
Q71. Jyothi can do 3/4th of a job 12 days. Mala is twice as efficient as R

Jyothi. In how many days will Mala finish the job? “
ST T 1 A7 3/4, 12 T&AT & T Tl g1 AIAT, ST F IR[AT FIAHAT vy SSC GGL 2017
=="| TIER-I| & TIER-III

S| HTAT 36 1T T ohae faai | 927 H017? Rt
o SEE All Rounder

(@) 6

(b) 8 100+ TOTAL TEST
(c) 12 » 60 Full Length Mocks

(d) 16 * 50 Topicwise (Advance Maths)

» 20 eBooks (Topic Wise)
« English Descriptive eBook
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Q72. Walking at 5 km/h a student reaches his school from his house 15 min early and walking at 3
kmy/h he is late by 9 min. What is the distance between his school and his house?

5 fersfi/Eie &t AT | T U (S=rfl ot &5t 15 foee 92 ag= Srarv ¢ i 3 fhei/=e &t =1 § a9 ag
9 foee it 3T | TZAAT §| ST 0 31T I8 HT & HeF TAL (eha el 572

(@) 5 km

b) 8 km

¢) 3 km

d) 2 km

(
(
(

Q73. How much time does a train, 50 m long, moving at 68 km/h take to pass another train, 75 m
long moving at 50 km/h in the same direction?

50 HT &t U o 68 Tohwi/=ie &t a7e & v, THTT (oo § 50 ffi/=e &t =t & 91 et 75 Y a1 o g o
T O A H TR AT F0T (1?2

(@)5s

b) 10 s

c)20s

d)25s

(
(
(

Q74.

»/1043291s equal to
104329 Feya< -
(a) 253

(b) 223

(c) 263

(d) 323

Q75.

If cos68 =sin30° (0° < B < 90°) then the value of 0 is
72 cos60 = sin30° (0° < B < 90°), AT B FT AT 2-

(a) 4°

(b) 12°

(c) 10°

(d) 14°

Q76. Find the total least number which when divided separately by 5, 15, 25, 45 leaves 4 as a
remainder in each case

TE TIH Il HEqT AT hitord, S/ 5741 5, 15, 25, 45 H SAT-3TT TS ATTord FoRAT SITaT 8, a7 Tedieh 29T § 0%
F ¥ H 4 YTH grar gl

(a) 219

(b) 239
(c) 229
(d) 249

Q77. If (ab-bc+ca)=0, then the value of (
afe (ab-bctca)=0, dT

100 100 100 )

) aZ+bc  bZ+ac  cZ+ab
[ 100 100 100 5

- - | =1 HIA &-
\at+bec b'+ac c+ab) ¢
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(2) 100 I CAREERPOWER
(b) 0
() (at+b+c)
(d) 300 @ SSCCP0 2017
856’ TIER-II
Q78. . ) TOTAL VACANCIES-2355
Ifa® + b% + ¢® = ab +bc +ac, then value of al':c+ BAGRAS T m
= C
b b
afZa’ +b? + 2 =ab +bc +ac g, T a:C”f ;—c+a: T HI 2-
(@)3
(b) 0
(c) 6
(d)1

Directions (79-80): The bar graph shows the marks obtained by a student in an examination out of
100 marks in each subject. Study the diagram and answer the question.

Tg T UTE UF GLeAT § TeaF 0T 3 100 301 § ¥ v forameff gy ur 363 10 ikt &1 gordar 81 e 7
Fegae FIRT 30 vt & 39 o

g.ﬂ -
Su -
70 4
E‘] -
& 50
| =
5.
30 -
20 -
10 -
o -
History English Maths Geography Hindi
Subject

Q79. The ratio of the marks of Maths and History is
IO 37 STAgT™ & Sishi T AT &-

(a) 8: 5

(b)3
(c) 4
(d)
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Q80. The average marks of Hindi and English is
IEEIEIRE PSR R RS
(a) 50

(b)
(c) 60
(d)

Q81. 8 men working for 9 hours a day complete a piece of work in 20 days. In how many days can 7
men working for 10 hours a day complete the same piece of work?

8 =T 9 =< YTAfad w1 &Lk UH &1 &l 20 A7 § 72 o6 g1 7 T2 10 = TiAfad w1 Fh q91 13 Fl
e foet o @1 HEm?

(a) 21 days

(b) 20° days

(C)20%days

(d) None of these/ STH & IS el

Q82.
[f |:3—£:b= |3—£i:- -1, then the value of a_iz—% is

3+45h=B-5b=1 5y 1.1
gfg Bed5p=B-5b=1 7 — - Fram -

Q83.
If 5x-5=1, then find the value of| - L | is

afy sx-2-18 1 - | T A
(a) 76/125

(b) 46/125
(©)1/125
(d)0

- & SSC CBL TIER I

The factors ofa® + 16b* + 16b-8ab-4a-12 Maths & English
a’+16b*+16b-8ab- 4a- 12 HHEE 3 @399/-

(a) (a -4b-2) (a-4b+6) Mock Test Booklets

(b) (a-4b+2) (a-4b-6)
(c) (a-4b-2) (a-4b-6) 10 TEST BOOKLETS (PRINTED TEST)
(d) (a-4b+2) (a-4b+b)
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Q85. Find the value of

[ 1 _ 1 + Zax :|xlra4+a2x2+x4\}

(a*—ax+x?) (@ +ax+x?) a'+aix?+x L 2ax J

[ 1 B 1 N 2ax :|Xira4+a2x2+x4\|

(a?—ax+x2) (@*+ax+x?) a +aixi+x" | | 2ax R CE G A S Y
(a) 2

(b) -1

(€1

(d)0

Q86. If 3x + 7y = 86 and 5x : 7y = 25 : 28, then (y -x) equals.
T3 3x + 7y = 86 3T 5x : 7y = 25: 28 &, AT (y -x) I<1&T &-

Q87. Two men A and B working together complete a piece of work which it would have taken them
12 and 18 days respectively to complete the work if they worked separately. They received payment
Rs. 149.25 . Find their shares.

31 &9 A 3T B a®e UF & $Ld &8, (578 el Hitd | 3re HALT: 12 307 18 fa7 @d g1 Sve 149.25 %, &7
ST TohAT SITAT 81 Seeh (8 AT shitor |

a) Rs. 89.55, Rs. 59.70

b) Rs. 90.55, Rs. 58.70

c) Rs. 91.55, Rs. 57.70

d) Can’t be determined/ fReaia 7t foram ST Thar

—~ o~~~

Q88. Two pipes A and B can fill a tank in 24 minutes and 32 minutes respectively. If both the pipes
are opened simultaneously, after how much time should B be closed so that the tank is full in 18
minutes?

ZTITET A 3T B T 2ot [ W9 24 T2 3T 32 e #§ 9% ¥ g1 T(Q 1 9159 THATT G [«U S7d 8, ar
B = fohas 90T 912 &% &< [T ST AR T, qTieh 2ot 18 fiee § T 9% S1u?

(a) 2 min

(b) 4 min

(c) 6 min

(d) 8 min

Q89. Three pipes A, B and C can fill a cistern in 6 hrs. After working together for 2 hours, C is closed
and A and B fill the cistern in 8 hrs. Then find the time in which the cistern can be filled by pipe C.
I 9T2T A, B 3T C U el &l 6 H< H 9T Thd gl 2 H FTH FLA & a18, C Fl 98 FHT [<FT J7qT & TAT A 3T
B TH &1 &l 8 5 § WX gl AT 9129 C ZIIT TH Eehl &l Toha el T8I H T SATAT?

(a) 6 hrs

(b) 12 hrs
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(c) 14 hrs
(d) 20 hrs

Q90. I have to be at a certain place at a certain time and I find that I shall be 15 minutes too late, if I
walk at 4 km an hour; and 10 minutes too soon, if I walks at 6 km an hour. How far have I to walk?

& T [Afd " 9% UF [ied 97 9% 99471 8 3% 73 A9 & 6 afq § 4 freft/s=e it =mer § 7aar g, @
15 e &t 6 & ag= oY Afs § 6 fohet wfa =e &t =1 & =31 g, a7 10 e 9ger 9= ST g At

AT 8?2
(@) 3 km

QI1.
I[fx=13,thenthevalueofx*- 14x*+ 14x3-14x2+ 14x-11is

Ao x= 13,7 x5 - 14x* + 14x7 - 14x2 + 14x- 1 T HIA -

Q92.
Ifp=101, then thevalue of p(p®- 3p + 3)is
fe p =101, TTp(p?-3p + 3) FTHIT &-

(a) 1000000
(b) 999999
(c) 1000001
(d) 999000

Q93.
, !
Ifa=100andb =676, then the value of [%E+£+Jﬁ—£)*

is CAREERPOWER

gfea=1003b= 6?6,?ﬁ[‘4ﬂ;‘5+£+dﬁ—ﬁf FT 1T &-

i) SSC CGL 2017

(a) 24% ssﬂ All Rounder

131
o) 312 350+ TOTAL TEST
(C) 265 = 80+ TIER-I MOCKS
(d) 10 « 50+ TIER1I MOCKS
? « 200+ SECTIONAL TEST
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Q94. Three boys step off together from the same spot. Their steps measure 48 cm, 66 cm and 96 cm
respectively. The minimum distance each slowed cover so that all can cover the distance in complete
steps.

A =If<F THT T § UHHTT FaH TETd 21 30 HaHl w7 AT FHT: 48 T, 66 THT 3T 96 HHT g1 TeF =AT<h
T A Fhael g FAT AT, qTrh a9t 0T Hadi § g4 aF HiT Toh?

(a) 8448

(b) 528

(c) 1056
(d) 2112

Q95. The ratio of income in two consecutive years is 2 : 3 respectively. The ratio of their expenditure
is 5: 9. Income of second year is Rs. 45000 and Expenditure of 1st year is Rs. 25000. Savings in both
years together is:

T FHNT 9T | AT AT AT FHHIA: 22 3§ I AT FT AqATT 5: 9 §1 T a9 Al 317 45000 =. g 3T Tg
T FT 2T 25000 %. | IAT F0T § HATH T3 &

(a) Rs. 4000

(b) Rs. 5000

(c) Rs. 6000

(d) Rs. 7000

Q96. Three friends divide an amount of Rs. 45,000, such that one of them takes 1/4 th of the total
amount and the other two divide the rest of the amount equally among themselves. What is the ratio
of amount taken by one of the friends to the total amount taken by the other two friends together?

1 =1 45,000 =. 1 T A7 27 TR F AAriora Fq €, [ ITH T OF T WA KT 14 AR AT E S A
ZT QT TTFT T I H FTa 91 ofd 21 30 F Toreft vk fer gy o1 1< <fey =, s &7 foe gy foemene <
T T & AT foheeT 272

@1:3

(b) 1

©)3

@2

Q97. A mixture contains milk and water in the ratio of 4 : 3 respectively. If 6 litres of water is added
to this mixture, the respective ratio of milk and water becomes 8 : 7. What is the quantity of milk in
the original mixture?

T FrA0T § T 3T AT 0T SA9Td A 42 3 g1 TS 7 07 § 6 Srex It (HaT QAT S0, a1 g7 ST 9Tt
T HHE AT 8 2 7 BT ST SATLTHF 07 § F& T AAT ohael &2

(a) 96 litres

(b) 36 litres

(c) 84 litres

(d) 48 litres
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Q98. A, B, C enter into a partnership. A contributes Rs. 3,20,000 for 4 FAELULE Fatiat
months, B contributes Rs. 5,10,000 for 3 months and C contributes Rs.

2,701§OOO for 5 months. If the total profit be Rs. 1,24,800 then A’s share of ( 1:7-; SSG CGL M AlN S
profit is- =
A, B, C o ST e Y 51 A, 4 W 5 P 320,000 %, Ay qfor a0 TER

TATETE 447 8, B, 3 WEl % o0 5,10,000 %. 7 A FT AR AT M C, 5 ENGLISH LANGUAGE
A & 1T 2,70,000 %. 3T TIF9T T AR <aT gl TS Td are 1,24,800 %. 2,
qTATH § A F7 F2ET B

(a) Rs. 38,400

(b) Rs. 45,900

(c) Rs. 40,500

(d) Rs. 41,500

=0y

20 FULL LENGTH MOCKS

Q99. A person was asked to state his age in years. His reply was. “Take my age 3 years hence,
multiply it by 3 and then subtract three times my age three years ago and you will know how old I
am”. What was the age of the person?

U ST<h & FUT | T A TATH 6 (70 Hgl TAT| SERT IAL AT, “HIT 3 9 AT 6T 0 AT, TH 3§ AT
T i TR I8 & 937 19 a9 qger T 3 T I AT =T Sr ST SATThl IqT =Ff ST 4L o0y fehaeit
2"\ 39 ATk it Ay FohaT o2

(@) 12 yrs.

(b) 14 yrs.

(c) 20 yrs.

(d) 18 yrs.

Q100. A polygon has 54 diagonals. The number of sides in the polygon is:
T agqs § 54 Tl &1 agsst § qoireti & 9e7 2:

()7

(b) 9

(c) 12

(d) None of these/ 7% & &I 7ol

22 I www.bankersadda.com www.sscadda.com | www.careerpower.in | www.adda247.com


http://www.bankersadda.com/
http://www.sscadda.com/
http://www.careerpower.in/
http://www.careeradda.co.in/

